Assignment to 5.3.1

pa =98 pg = 107
dmcp = 30 dmcepg := 32
dlcy =10 dleg := 8
spep =0 speg = 2
Xpp = 2100 xpg = 4000
xs 5 = 2100 xsg = 3960

IMC := 9550

ILC := 122520

AC := 76326

SC := 114489

DMC := dmcy-xpp + dmeg-xpg

DMC =

DLC := dlcp-xpp + dleg-xpg

DLC =

imcy = Me dmc imep = Me dmc

A C A B C B
imc, = imcg =
ilcp = ——-dlcp ileg := ——dleg
ilcy = ilcg =
mep = dmeyp + imep + dlep +ilcy + spey mep = dmeg + imeg + dleg + ileg + speg
mcy = mcg =
MCOGSp := mcp-Xsp MCOGSg := mcp-xsg
MCOGS, = MCOGS; =

MCOGS := MCOGS 5 + MCOGSg
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Assignment to 5.3.1

MCOGS =
AC AC
acp .= ————InC aCp .= ————IC
A= Mcogs A B~ Mcogs B
acy = acg =
sc -—me sc -—me
A7 mMcogs A B~ mcogs B

SCp = SCg =
fCp = mMCp + acp + SCp tcg = mcg + acg + scg
tCA = tCB =
Tp = pp —fcp rg = pg ~ teg
A = g =
Cost-of-sales results accounting
Rp=1pX8p Rp = rg-xsg
Rp = Rg =

R:=Rp +Rp

R =
Total cost results accounting
SA=PAXSA Sg = pp'Xsp
Sp = Sg =

S:= S\ + S

S =
ICy = ch-(pr - st) ICR = ch-(xpB - st)
IC, = ICg =

IC:=ICy + ICq

IC =
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Assignment to 5.3.1

TPy = Sp +ICx TPg = Sg + IC
TP, = TPg =

TP := TP, + TPy

TP =
MCOP 5 1= mcp-Xpp MCOPR := meg-xpg
MCOP, = MCOPg =

MCOP := MCOP 5 + MCOPyg

MCOP =
ACA = ACA XS A ACB ‘= acg-Xsp
ACA = ACB =

AC = ACA + ACB

AC =
SCA = SCA'XSA SCB ‘= SCR'XSp
SCA = SCB =

SC = SCA + SCB

SC=
TCOPA = TCOPB =

TCOP := TCOPA + TCOPB

TCOP =

Rp = Rg
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Assignment to 5.3.1

R:= R, +Rp
R=

Legend

Subscript A, B for products

p = Selling price

dmc = Direct cost of materials per unit

dic = Direct cost of labour per unit

spc = Special direct production cost per unit

Xp = Quantity of goods produced

Xs = Quantity of goods sold

IMC = Indirect cost of materials

ILC = Indirect cost of labour

AC = Administration cost

SC = Sales cost

DMC = Direct cost of materials

DLC = Direct cost of labour

imc = Indirect cost of materials per unit

ilc = Indirect cost of labour per unit

mc = Manufacturing cost per unit

MCOGS = Manufacturing cost of goods sold

ac = Administration cost per unit

sC = Sales cost per unit

tc = Total cost per unit

r = Result per unit

R = Result

S = Sales (value), turnover

IC = Change in inventory of finished goods

TP = Total performance

MCOP = Manufacturing cost of goods produced
TCOP = Total cost of goods produced
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